
www.sonum.ru 

Инструкция по сборке кровати Dakota

М8х45

М6х20

М6х20

М8х45

B

B

3

2 М8

B

�

M8x45 M6x20 M8x20
8 шт.38 шт. 12 шт.

Съемный чехол

4 шт. 1шт.4 шт. 5 шт.*

1 комплект

4 шт.
M8

1 шт.

М6х20 М8х45

А

1

М8х45

А

B B

4

4 шт.

C

М8х45

М8х20

13

1 шт.
Ключ гаечный 

13

C

А

B

M6x60
4 шт.

B

M8x45 M6x20 M8x20
8 шт.38 шт. 12 шт.

Съемный чехол

4 шт. 1шт.4 шт. 5 шт.

1 комплект

4 шт.
M8

1 шт.

4 шт.

1 шт.
Ключ гаечный 

13

B

M6x30
4 шт.



7

М8х20

�

8

М8х20

Съёмный чехол

М8х45

М6х60

М8х45

�

��

5

6

C
C

В

ВВ


	Страница 1
	Страница 2

